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The two lines have equal slopes,  Therefore, the 

lines are parallel. 
  
Graph the lines on a coordinate plane to verify the 
answer. 

 

ANSWER:  
parallel 

 

30. A(4, 2), B(–3, 1), C(6, 0), D(–10, 8) 

SOLUTION:  
Substitute the coordinates of the points in slope 
formula to find the slopes of the lines. 
  

Find slope of  with (x1, y 1) = (4, 2) and (x2, y2) 

 = (–3, 1).    

 

 

  

Find slope of  with (x1
, y

1
) = (6, 0) and (x2, y2) 

 = (–10, 8).  
 

The two lines neither have equal slopes nor is their 
product –1. Therefore, the lines are neither parallel 
nor perpendicular. 
  
Graph the lines on a coordinate plane to verify the 
answer. 

 

ANSWER:  
neither 

 

32. A(8, 4), B(4, 3), C(4, –9), D(2, –1) 

SOLUTION:  
Substitute the coordinates of the points in slope 
formula to find the slopes of the lines. 
  

Find slope of  with (x1, y 1) = (8, 4) and (x2, y2) 

 = (4, 3).     
 

  

Find slope of  with (x1
, y

1
) = (4, –9) and (x2, 

y2)  = (2, –1).    

 

The product of the slopes of the lines is –1. 
Therefore, the lines are perpendicular. 
  
Graph the lines on a coordinate plane to verify the 
answer. 

 

ANSWER:  
perpendicular 
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